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2.2      Stability of D‐dimensional crystal at T>0              (20 pts) 

Consider a harmonic crystal with a single atom per cell in D dimensions. (of course we are interested 

in the cases D=1,2,3). 

1. Show  that  the  low‐frequency  phononic  density  of  states  behaves  like  ݃ሺ߱ሻ ൌ  .஽ିଵ߱ܣ

Assume ߱௦ሺܓሻ ൌ ܿ௦൫ܓመ ൯݇  for ߱ ൏ ߱௖.  You  should  get ܣ ൌ ܿ஽ܦΩ஽ ሺ2ߨሻ஽⁄  with Ω஽  the D‐

dimensional solid angle and c an appropriate angle‐ and polarization‐ average of ܿ௦൫࢑෡൯. Give 
an expression for c. 

2. Let us  consider now  the mean  square displacement  from  the  atomic  equilibrium position 

ଶതതതܝ ൌ
1
ܰ
෍〈ܝଶሺ܀ሻ〉,
ୖ

 

with 〈… 〉 the thermal average at a fixed temperature. Express ܝଶതതത as a sum over the normal 

modes frequency. 

[Hint:  (i)  express  the  coordinates  as  a  sum  of  the  normal  modes  

ሻ܀ሺܝ ൌ ሺ1 ܰ⁄ ሻ∑ ௦,ܓ܀∙ܓሻ݁௜ܓ௦ሺܝ , with ܝ௦ሺܓሻ  the normal coordinates and ܓ belonging  to  the 
FBZ; (ii)  ሻܓ௦ሺܝ  ∝ ૓௦ሺܓሻ, and ૓௦ሺܓሻ ∝ ૓௦ሺെܓሻ; (iii) Because of the virial theorem, at a given 

temperature the average value of the potential energy of a normal mode is half the value of 

the average of the total energy ԰߱௦ሺܓሻሺ݊௦ሺܓሻ ൅ 1 2⁄ ሻ. ሿ 

3. Express now ܝଶതതത as a frequency integral, introducing the density of states. 
4. Specialize the formula found in the preceeding point to a finite system, simply by introducing 

a  lower  cutoff  frequency  limiting  the  frequency  integral  to  ߱ ൐ ߱௧ ൌ ܿߨ2 ⁄ܮ .  Here 

ܮ ൌ ܰଵ ஽⁄ ଵߩ ஽⁄⁄ , with ߩ the atomic density.  

5. Evaluate now  for ܶ ൐ 0	the dominant contribution  to ܝଶതതത due  to  the  low  frequency modes 

ሺ߱௧ ൏ ߱ ൏ ߱௖ሻ, in the regime for which ߚ԰߱ ≪ 1. 

6. What happens to ܝଶതതത for ܦ ൌ 2 when ܰ → ∞? What does that mean for the stability of the 

system? 

7. Same question as in point 6 but with ܦ ൌ 1. 

 

2.3   1D rare gas chain                     (10 pts) 

Consider  a  1D  chain  of  Xenon  atoms.  Assume  a  pair  interaction  defined  by  the  Lennard‐Jones 

potential ߶ሺ|ݔ|ሻ ൌ 4߳ሾሺߪ ⁄ݔ ሻଵଶ െ ሺߪ ⁄ݔ ሻ଺ሿ. Assume atoms are evenly spaced at equilibrium (spacing 

௡଴ݔ ൌ ݊ܽ) and that they can oscillate around equilibrium position (ݔ௡ ൌ ௡଴ݔ ൅ ௡ݑ   ௡, withݑ ≪ ܽ). You 
can find the value of Lennard‐Johnes parameters for Xenon in the Ashcroft‐Mermin. 

1. Calculate the energy per particle ݁ሺܽሻ	for a given equilibrium spacing, as a function of ߳ and 
ሻ݌ሺߞ Hint: approximating each of the sums] .ߪ ൌ ∑ ݊ି௣ஶ

௡ୀଵ , ݌ ൌ 6,12 with the first 3 terms 

of the series we obtain ߞሺ6ሻ ൌ 1.02 and ߞሺ12ሻ ൌ 1.00]. 
2. Calculate the equilibrium spacing as a function of ߪ and in Angrstrom.  

3. Consider now a nearest‐neighbor approximation. Calculate the sound velocity for the acustic 

phonons. 

4. Evaluate the zone boundary frequency in Hertz. 


